MAC 2311 Quiz 6 L15-L16

Name:
Instructor: Minseo Cho

1. Let C be a circle whose center is (—1,0) and radius is v/2.
2. 2 —
C:(z+12+¢y*=2 & (ntl) +y9 -270

Let /1 be a tangent line at (—2,1). Then, find a tangent line {5 to a given circle C' that
is perpendicular to the tangent line ¢,

1) Find o twngent Ime £, at (-2,1)

(- %ﬁ' (x41)* +9y*— 2= ((,g-;-l)*)\-l- C9*) + (-2)
= a(x+t1) ¢ (s‘)‘-r(-z)\
=3 (x+1)+ 299 +o
= 3 (x+1)+ ay-y'

5 0= %(o):%j (x4+1)* +9*-3] = 2 (x+1)+ ay-y'
~3 (241) —(z+1)

29 J

Thus, o tangent Slop L, ot (-2,1) is ...‘(‘-';*') = |

S ayy'=-2(x+1) 3 Y's

Henee , L, : 9=1(n+t2)+1= 7”“‘3-)

2) I3 Ly s perpendicular o 4, when we say m, 44
0 tangent slope of L, , We have
m,- | = =12 mg_=_|
Now, we need b dind some ponts P and Q on

whose deriywtives have -14.
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C:(z+1)2+y* =2

Let /1 be a tangent line at (—2,1). Then, find a tangent line /5 to a given circle C' that
is perpendicular to the tangent line ¢,

3) Sme P amd Qe on acirde C and have & -fnnoent slope 4,
they oare satisdied #He Follo w/’na. condition

t 2 >~ i Ag .."(1'—.'.‘)_—_—
(i) (x+1)" +y*=2 Cii) L= 4
&S %1t =Y.

3 Fvm (i), (x-l-l)"-t-g".—.—.zg y= At
Cx+00"+ xtD =2

L (x+0=2 5 (a2
Which implies =<3 or 0.

When x=-2, y= x+1=-2+41=-1 5 P=C-2,-1

when %= o, y= x+l= o+l = | 5 R=(o2,1)

... chm) l; /6< e o

® Y=-4-(x+2) - |=-24-3

@ Y=-1(x-0)+| =-= +l| -
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¥ OF - Youn @ Solve this Ly vsmg geometry,
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1. Let C be a circle whose center is (—1,0) and radius is v/2.

C:(r+1)+y*=2.

Let /1 be a tangent line at (—2,1). Then, find a tangent line /5 to a given circle C' that
is perpendicular to the tangent line ¢

\

Aa

J\//)Ce, ~JSlope o A Tapsemt Iine A

Y- value change
% - Valne Change

TS, Since Be = 2, o length & 13 4B
52 as well

2
2

is 1, 1 means =%=
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1. Let C be a circle whose center is (—1,0) and radius is v/2.

C:(z+1)2+y* =2

Let /1 be a tangent line at (—2,1). Then, find a tangent line /5 to a given circle C' that
is perpendicular to the tangent line /;

Fram Hhis fgure, we Can veddy thit 4, ‘ge - -
¢ Y=-(at3)=-n—>3

@ 3:"’(%—1) = —a+1.
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2. Let y = f(z) = cos(2z). Then compute its 2025th derivative of f(z).
(In other words, find what % is.)

Uc‘(%) = —2-din Cam)= -2 SN2

a"“('ac): -a- (J‘,” (270))‘= -%-&: oos(aw) = - g cos 2%

Flexy= —2-8-(os@®))' = -2-8-C2-din (am)) = 23 3in(2%)
nn \
(%) = -2-8-C2)-Win (2%)) =-2-8-2) & tos@@m) = _ 2% sor 20
4 ksl
And remind ot sL_“f*"J (*) — _ginx
.V}

( Rem’ew Lecture /4 home work ) '-)
SihCQ 025 = Lo x4 +1,
A.?A!d’

S (ctos(am) = _zw. Sh (am)
d ™



